77 & 7 20022, 62

1.1
1.2 (50 cm,
cm)
2 m, 30 ~ 60 cm, s
1.3
, 132~ 4 ,
1 3 b
1.4 s
;300 m? ,
’ 2"3 ’
2
. l"2m )
. 50% 1 000 »2.5%
~3 000 , 20% 1500~2 000
1 000

62

» 50%

<t
==

i

SOl

-

1

N

D 2> DB T OB %

PPN &F

5d1

3
3.1 ,
3.2
3.3 .
11 m? , 10~ 20
, 0.5%
. 3~54d 1 . 5~6
3.4 ( .
) 3000 , 1. 1%
2 1000~1 500 , 20 ~ 30
d. 1000 2 000
18% 300 10% 3 000
5% ( ) 2 000 2.5%
2 000~ 3 000 , 4~6d .
4~5 8~ 11
, 1~2 . 22%
. 4500~ 6 000 5
~7d1 , 2~3
E
zIL/’T: ’ ’ ’
4.1 .
4.2 ,
4.3
BT 1 000 ,
BT , BT
4.4 2 5%
. 5% ., 5% 1 000
~2 000 , 2~3 5% ,
10% 1 500~ 3 000 , 50% ( )
800~ 1 000 , 20% 500
., 1.8% ( )2 000 ;
2.5% ( ) 2000~ 3 000 ,  2.5%
3 000 . , ,
( , 030801



